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£ %2 37 e EELIE 52 127

ERAEZDZUT
gﬂ_;xm;[xﬁrﬂeg;] 0.04 0.82 257 357
H| m K| 2 (6l X| OF 2) -0.36 0.92 1.99 1.70
(H| X[ 2 ChH| A 3P (0.41) (-0.10) (0.58) (1.86)
S F(Class)d gt

A -0.24 0.26 173 243
(H| X[ 2 ChH| A 3P (0.13) (-0.66) (-0.27) (0.73)
C -0.29 0.16 1.57 2.23
(H| X[ 2 ChH| A 3P (0.08) (-0.76) (-0.42) (0.53)
Ce -0.23 0.28 176 248
(H| X[ 2 ChH| A 3P (0.14) (-0.64) (-0.24) 0.77)
W -0.08 0.56 2.19 3.05
(H|mX|= che| A1p (0.28) (-0.35) (0.19) (1.35)
I -0.74 -0.74 0.07 091
(H|m X2 CHH| A1p (-0.38) (-1.66) (-1.92) (-0.79)
H| m K| 2 (6l %] OF 2) -0.36 0.92 1.99 1.70

Z5) H| K| (A K| OF3) : KOSPI 20% + CALL 10% + KISZ X} 01-02Y 70%
X X A7|0| 0082 WMo 22AMMoZ D|2jo| MulE HESH=E 712 ofLH T HME= /4 HSIEXISHOZ SFE Ha « 2250| X10]

2 eguxol Srapal £
2 H2 14 2 24 2 34 %2 54

sasK S 37 918 1330 -
H| X 2= (K| 0F3) 1.70 5.16 8.48 -
(H|mX|2 CHH| A1) (1.86) (4.02) 4.82) -
SF(Class)8 2zt

A 243 6.81 9.63 -
(H|mX|2 CHH| A1) (0.73) (1.65) (1.15) -
C 223 6.38 8.97 -
T (0.53) (1.22) (0.50) -
Ce 248 6.93 9.84 -
(H|mX|2 CHH| A1) (0.77) 1.77) (1.36) -
W 3.05 - - -
(8513 chbl Hp (135) - - -
I 091 - - -
(8513 chbl Hp (079) - - -
H| K| 2= (4 X| O 3) 1.70 5.16 8.48 -

=) H|mX| 4= (#X| 03 : KOSPI 20% + CALL 10% + KIS2 x| 01-02Y 70%

== TFAH AFZT EHIIA ==
78 e TEEE sy SN ETHE ) e | soe
=4 | m@ [ oz | mesx| su [ me as74] Jie | 203
M 7| 164 800 0 0 0 16 191 1171
= 918 732 0 0 0 8| 172 5
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KRW 6,737 118,045 0 0 0 0 0 0 0 2,921 | 52,615 180,317
(3.74) (65.46) (0.00) (0.00) (0.00) (0.00) (0.00) (0.00) (0.00) (1.62)] (29.18) (100.00)
T
=K g7

7|E} 7|E}

BV |tEoE 7 |tHEoE

KA 63.01 KA 65.46

80 100
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=2 45 HIE =2 45Y HIE
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3 H = 18.72 8 7|E} 0.01
4 IT S/W & SVC 3.98 9 0.00
5 =1 3.86 10 0.00
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(Sl : %)
T =9 H|S T =9 HES
1 e £0t0170-1708-02 19.10 6 CHI|AME REPOD£:(20150910) 6.93
2 e = 102750-1706(14-3) 13.38 7 WE =103500-1703(12-1) 5.70
3 Ch| A= REPOD£:(20150910) 9.71 8 e £00222-1610-02 421
4 CHIME REPOD£(20150910) 9.21 9 XA £0t0171-1704-02 3.90
5 xf 2 £010169-1706-02 7.78 10 XA 287HE2029 2.84
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Pge 7| 7|
- =4 H| & =4 H &
INENEEEON, 0 0.00 0 0.00
EHO 2| A 0 0.00 0 0.00
HET A 2T AHAEFRIRY) 0 0.00 0 0.00
UHEAR 22| 2| A 0 0.00 0 0.00
23 0 0.00 0 0.00
7| EFH| & ** 1 0.00 2 0.00
oo Rt 1L R Pe=3 5 0.00 10 0.01
S f:fjgif 0 0.00 3 0.00
SR
SHA| 6 0.00 13 0.01
SHEAENAM 5 0.00 22 0.01
INNE=R=IN 15 0.12 14 0.12
ThOf S| A 19 0.15 18 0.15
HET AR TS| AHA EFRXYL) 0.00 0 0.00
LA 22| 3| A 0 0.00 0 0.00
EES ¥ 36 0.28 32 0.28
7| EFH| & ** 0 0.00 0 0.00
CtOf O S48 0 0.00 1 0.01
A TR
=74 MHA Aoz 0 0.00 0 0.00
S
A 0 0.00 1 0.01
SHAEAM 0 0.00 1 0.01
KA 2 A} 167 0.12 190 0.12
THOf S| AF 283 0.20 323 0.20
H C X A 2 S| AHAL EFQI X 5 0.00 6 0.00
UHIALR 22| D AL 5 0.00 6 0.00
23 461 0.33 524 0.33
7| EFH| & ** 2 0.00 3 0.00
oy Cteojo). B8 5 0.00 9 0.01
= | ZNEERRE T ;
SR —
= Al 5 0.00 11 0.01
SHAZA 4 0.00 20 0.01
XA S AL 1 0.12 1 0.12
O S| A 1 0.14 1 0.14
HETY A 2| AHAEFRIXY) 0 0.00 0 0.00
LA 22| 3| A 0 0.00 0 0.00
20 2 0.27 2 0.27
7| EFH| & ** 0 0.00 0 0.00
CtaOjo) S48 0 0.00 0 0.01
A TR
=4 MHA Aag 0 0.00 0 0.00
S8
A 0 0.00 0 0.01
SHAAM 0 0.00 0 0.01
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Ege 7| 27|
i 29 bl g 29 Hlg
K2 &AL 4 0.12 4 0.12
THOY S| AL 0 0.00 0 0.00
HE XA 2 S| AHA EFRIRE 0 0.00 0 0.00
AR 22| 2| A 0 0.00 0 0.00
B35 4 0.13 4 0.13
w 7| EtH| &** 0 0.00 0 0.00
ChEOjo. S48 0 0.00 0 0.01
A EESTETerE=
A%jH MHA Aag 0 0.00 0 0.00
TTE A 0 0.00 0 0.01
SHAEA 0 0.00 0 0.01
A2 &AL 0 0.00 3 0.12
EHO 2| A 0 0.00 0 0.01
™ C X A 2 S| AHAL EFQI X 0 0.00 0 0.00
LHIALE 22| D AL 0 0.00 0 0.00
2t 0 0.00 4 0.13
I 7| EHH| &** 0 0.00 0 0.00
Cteoiol.57ls=+& 0 0.00 0 0.00
S TR

SN MH|A aaz 0 0.00 0 0.00

SR —
A 0 0.00 0 0.00
SHAZNA 0 0.00 0 0.01

*HEO| XS A ET i

) HlE
** 7|EtH| O[2t 2| A ZAIH|E, S &

| OISt % ZHHIS 5 HEOIM Z4N BN NFE HEORAM 0j0f-SHFHEE el HYLIC

lo —

> & H, HE HE

(EHl: B, %)

=

Sig HE A2HE H|Z it
&
SH - HEH|lg SHsE HE |SHBE HEHEM0 - 7R HIF
ENAEDQFUT} 7| 0.0057 0.0156 0.0057 0.0156
SHERERHZE] =] 0.0053 0.0203 0.0053 0.0203
ZF(Class)d gt
7| 1.1024 0 1.1082 0.016
=5 1.1024 0 1.1079 0.0198
c 7| 1.3024 0 1.308 0.0157
=5 1.3024 0 1.3077 0.0206
o 7| 1.0618 0 1.0672 0.0171
=5 1.062 0 1.0672 0.0211
W 7| 0.5023 0 0.5083 0.0151
=5 0.5023 0 0.5079 0.0198
1 7| 0.5324 0 0.5391 0.0143
=% 0.5324 0 0.5388 0.0172

F1) 54U 852 (Total Expense Ratio)0|2t 285+ S HEON FEos =40 J|EMH[8 5US aAHt AFTAY(E5-HS ALH 7|
F)O2 L HIZEA oI 28712 5 £AIL £HY 5 B4-H8FFS LIEFYLICE

72) Oof- B4 4 2 HIBOIR DY B4R E SAH ABTY (B4 -HIG AL 7IF)OR L HISRA T 287I% 5 SXIATL G
o Ojoj- S+ 420 +FS LiErLCE
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